



Student Managed Investment Fund

2022 Spring Semester Report



Table of Contents

Fund Overview	3
SMIF Performance Evaluation	5
Fund Weighting & Holdings	6
Holding Changes with Investment Theses	9
Dividends	13
Student Analysts (Spring '22 Semester)	16

Disclaimer

The purpose of this document is to provide information on the Miami University Student Managed Investment Fund. All the information is believed to be accurate and reliable but should not be relied upon without verification, and Miami University and the Student Managed Investment Fund assumes no responsibility for its use.

Fund Overview

The Student Managed Investment Fund Program

The main purpose of the Miami University Student Managed Investment Fund (SMIF) is to provide a practical learning experience for students in the Farmer School of Business while generating distributions to support student scholarships and/or the Farmer School of Business Department of Finance. It is the responsibility of the Student Managed Investment Fund Class (FIN 481) to research and analyze securities that ultimately create a diverse portfolio that mitigates risk to the best of its ability while creating acceptable returns. The SMIF will act as a sub-advisor of the Foundation's Separately Invested Funds and the SMIF's Management team will report to the University's Office of Investments and Treasury Services at the end of each academic semester.

The Student Managed Investment Fund Investment Philosophy

Value investing is at the base of the SMIF's investment philosophy. We believe that fundamental analysis can be used to identify attractively priced securities in the equity market. The concept behind this approach is market inefficiency: the market price of the securities can experience volatility around the intrinsic value of the asset. Students use fundamental analysis to identify the intrinsic value of securities and compare it to what the security is currently trading at. Stocks that are priced lower than the intrinsic value are examined and considered as potential additions to the portfolio.

The Student Managed Investment Fund Management Process

This course allows students to become active portfolio managers for the SMIF fund. Students are divided into market sector groups. Groups are in charge of monitoring the performance of their sector, as well as recommend investment opportunities within their sector. Sector groups are also in charge of evaluating the performance of the securities in the portfolio that fall under their sector.

Twice a semester, students will get the chance to pitch their market research and investment opportunities to the rest of the class. If over 60% of the class believes that a certain stock is a good investment opportunity, and its intrinsic value supported by fundamentals is significantly higher than the market price, the team will have a chance to pitch the investment recommendation to alumni judges and the executive board of the fund. Alumni and directors are encouraged to ask challenging questions to build students' critical thinking. To prepare for this presentation, students are expected to conduct thorough equity research. This ensures that only the best stocks are pitched to the alumni.

SMIF Portfolio Construction and Asset Allocation

The SMIF portfolio will be concentrated in nature, at the same time attempting to diversify each sector and individual weightings to manage risk. The stock selection universe primarily comprises public equities listed on major U.S. exchanges with market capitalizations of at least \$500 million and a price greater than \$5. Exceptions may be made subject to faculty advisor approval. Derivatives, levered securities (e.g., leveraged ETFs), and short selling are prohibited. Exchange Traded Funds ("ETFs") may be used strategically in the portfolio from time to time but should be phased out in favor of individual securities. The Fund's target asset allocation should be at least 95% invested in equities with the remainder invested in cash or cash equivalents. Portfolios should aim to have around 30 positions and should not exceed 50 positions. Initial positions should be targeted at 2% of portfolio market value, bounded within 1% and 5%. Excluding holdings through ETFs, no single equity position should exceed 5% of portfolio market value over an extended length of time.

Fund Overview (cont'd)

Annual Distribution Policy

The student managed pool consists of 6 individual endowment funds. Five of the endowments were established by donors, who established the criteria that the fund should be used for student experiential learning related to investing and how the annual distribution should be used. The sixth fund was established internally to hold all the donor gifts intended to support the student managed fund that are below our \$25,000 minimum endowment size. The funds and the areas they support are as follows:

- Oak Associates Fund: Discretion of Dean of FSB
- Lindsay Walter Fund: Scholarship for FSB students
- James Lewis MUF Student Investment Fund: FSB Finance Department Support (75%) & to support students working in the local community to help the disadvantaged (25%)
- Dave Gezon Fund: FSB Finance Department Support
- Student Separately Managed Fund (for non-endowed gifts): Reinvesting all earnings until it reaches \$25,000 in size
- James Avery Family Fund: FSB Finance Department Support (Reinvest all earnings for 1st 5 years by donor restriction)

SMIF Performance Evaluation



Portfolio Return (Excluding S&P 500 ETF and Cash Holding)



Sector Weighting Breakdown

<u>Note</u>: Evaluation period November 1st, 2021 – April 29th, 2022. <u>Note</u>: Consumer D. = Consumer Discretionary, Consumer S. = Consumer Staples, IT = Information Technology.

Fund Weighting & Holdings



Individual Sector Returns

Note: Consumer D. = Consumer Discretionary, Consumer S. = Consumer Staples, IT = Information Technology.



Portfolio Holdings

Fund Weighting & Holdings (cont'd)

Portfolio Breakdown by Position (Excluding S&P 500 ETF and Cash Holding)

Company	Sector	Weight	Price	Shares	Total Net Amount
Abbvie	Health Care	4.02%	\$146.88	174	\$25,557
Advanced Micro Devices	Information Technology	1.00%	\$85.52	75	\$6,414
Ally Financial	Financials	2.13%	\$39.96	340	\$13,586
Alphabet Inc.	Communications	2.85%	\$2,299.33	8	\$18,395
Amazon	Consumer Discretionary	1.94%	\$2,485.63	5	\$12,428
Anthem Inc.	Health Care	2.42%	\$501.93	31	\$15,560
Bio-Rad Laboratories	Health Care	2.39%	\$512.06	30	\$15,362
BlackRock Inc.	Financials	2.04%	\$624.68	21	\$13,118
Bristol-Myers Squibb Co.	Healthcare	2.11%	\$75.27	179	\$13,473
Cambium Networks Corp.	Information Technology	0.52%	\$15.27	218	\$3,329
CDW	Information Technology	3.53%	\$163.18	139	\$22,682
Chubb LTD	Financials	2.09%	\$206.45	65	\$13,419
Citigroup Inc.	Financials	1.47%	\$48.21	186	\$8,967
Coca-Cola Co.	Consumer Staples	2.53%	\$64.61	253	\$16,346
Delta Airlines Inc.	Industrials	2.78%	\$43.03	414	\$17,814
Docusign Inc.	Information Technology	0.80%	\$81.00	63	\$5,103
Electronic Arts Inc.	Communications	3.00%	\$118.05	163	\$19,242
Ericsson	Communications	1.69%	\$7.96	1,362	\$10,842
FedEx Corp.	Industrials	1.55%	\$198.74	50	\$9,937
General Motors Company	Consumer Discretionary	1.52%	\$37.91	257	\$9,743
Honeywell International	Industrials	2.68%	\$193.51	89	\$17,222
JPMorgan Chase & Co.	Financials	3.38%	\$119.36	180	\$21,485
Logitech International	Information Technology	1.20%	\$65.30	118	\$7,705
Louisiana-Pacific Corp.	Industrials	1.86%	\$64.52	186	\$12,001

<u>Note</u>: As of 4/29/22.

Fund Weighting & Holdings (cont'd)

Portfolio Breakdown by Position (Excluding S&P 500 ETF and Cash Holding)

Company	Sector	Weight	Price	Shares	Total Net Amount
Mastercard Inc.	Financials	1.98%	\$363.38	35	\$12,718
Merck & Co., Inc.	Health Care	2.88%	\$88.69	208	\$18,448
Meta Platforms Inc.	Communications	1.25%	\$200.47	40	\$8,019
Microsoft Corporation	Information Technology	3.68%	\$277.52	85	\$23,589
MLP Energy Transfer	Energy	3.24%	\$11.08	1878	\$20,808
Nike Inc.	Consumer Discretionary	2.62%	\$124.70	135	\$16,835
Northrop Grumman Corp.	Industrials	1.64%	\$439.40	24	\$10,546
Nvidia Corp.	Information Technology	2.49%	\$185.47	86	\$15,95 0
Palo Alto Networks Inc.	Information Technology	2.45%	\$561.28	28	\$15,716
Procter & Gamble	Consumer Staples	2.72%	\$160.55	108	\$17,339
Qorvo Inc.	Information Technology	1.45%	\$113.78	82	\$9,330
Royal Caribbean Group	Consumer Discretionary	0.51%	\$77.73	42	\$3,265
Splunk Inc.	Information Technology	0.67%	\$122.02	35	\$4,271
Spotify	Communications	0.90%	\$101.65	57	\$5,794
Take-Two	Communications	1.62%	\$119.51	87	\$10,397
Tesla	Consumer Discretionary	1.09%	\$870.76	8	\$6,966
Thermo Fisher	Health Care	1.90%	\$552.92	22	\$12,164
Tyson Foods	Consumer Staples	2.77%	\$93.16	192	\$17,887
UnitedHealth Group	Health Care	2.85%	\$508.55	36	\$18,308
Verizon Communications	Communications	1.86%	\$46.30	254	\$11,760
Walmart Inc.	Consumer Staples	2.34%	\$152.44	100	\$15,244
Walt Disney Co.	Communications	1.88%	\$111.63	111	\$12,391
Waste Management Inc.	Industrials	3.72%	\$164.44	146	\$24,008
Note: As of 4/29/22. Total Market Value as of 4/29/2022				\$641,483	

Holding Changes with Investment Theses

New Positions

Alphabet, Inc. (\$GOOGL)

Bought 8 shares at \$2,536.29 on April 18th, 2022

Strong momentum from advertising business revenue, which is a majority of Google's revenue, plus positive results for Youtube ad sales growth will create upward price movement. Potential growth in the Cloud segment as the gap between AWS and Microsoft Azure is closing. and the upcoming July 15th 20:1 stock split will increase stock demand. Google is a large cap and market leading firm that will hold longevity through goodwill.

Amerisource Bergen (\$ABC)

Bought 80 shares at \$155 on May 3rd, 2022

For AmerisourceBergen we see improved fundamental backdrop in the broader pharma distribution business along with increased long term synergy opportunities inclusive of the Alliance Healthcare acquisition and relationship with the Walgreens Boots Alliance (WBA). We see this as an opportunity to diversify our holdings within the healthcare sector. Lastly, AmerisourceBergen could be a safe haven considering the current market volatility.

Builders FirstSource (\$BLDR)

Pending 216 shares at \$55

Builders FirstSource is poised to benefit from what we project to be consistently high demand for construction of single-family units for the next 6-12 months, the 17.6% rise in rent prices nationally driving the market for new residential homes, and from construction delays due to material shortages and supply chain issues increasing the prices of basic materials they sell to contractors, among others.

Capital One Financial (\$COF)

Bought 72 shares at \$129.58 on May 6th, 2022

Capital One Financial Corp. (NYSE:COF) will fuel long-term earnings growth by continuing to digitize its business model. By shifting away from physical branches, Capital One has the ability to suppress maintenance capital expenditures (CAPEX). This may not only increase free cash flow but may also allow room for management to focus on its marketing strategy while keeping its cost structure competitive.

Holding Changes with Investment Theses (cont'd)

New Positions

Chevron (\$CVX)

Bought 86 shares at \$210.46 on May 6th, 2022

Chevron is positioned to benefit from the rising demand of US energy, as European countries look to limit their reliance on Russian sources. Additionally, we believe high oil and energy prices will continue through 2022. We also believe that Chevron's large Permian Basin position is mostly composed of legacy acreage meaning the firm did not overpay to enter the play - which will benefit them in the long run.

Chubb (\$CB)

Bought 55 shares at \$210.16 on May 6th, 2022

As investors flock to hard assets such as real estate and cars, they will need insurance which will benefit CB. They are also focusing on global expansion and have considerable pricing power due to diversification and track record of performance. Additionally, Chubb is underway with some partnerships in IOT and data analytics platforms that is allowing them to better manage underwriting risks.

Cisco (\$CSCO)

Pending

Cisco is in a steady position to realize an annualized recurring revenue stream of 21% growth. It is also the largest vendor of cloud based software. In our analysis, Cisco's revenue will continue to benefit from their development in software and cloud computing, as they are driving an architecture change in network. We believe that Cisco has authorized a \$15 billion stock buyback in February, accruing a total market amount of \$18 billion, which would be beneficial to the company's earnings.

Costco (\$COST)

Bought 34 shares at \$530.00 on May 4th, 2022

Costco safeguards the portfolio from recessionary risks and inflationary pressures by providing discounted bulk offerings and robust traffic trends from its ancillary and oil businesses. Key catalysts include growth in market share through warehouse expansion, larger gross margins by increasing private-labeling, and building a better e-commerce presence. The future of Costco consists of lowering costs associated with traditional multi-step distribution channels.

Holding Changes with Investment Theses (cont'd)

New Positions (cont'd)

Discovery (\$WBD)

Pending 659 shares at \$16.56

Warner Brothers Discovery's leading content library is expected to drive further subscription growth. Recent merger with Warner Bros (AT&T) creates the 3rd largest streaming market cap firm that allows WBD to purchase/acquire more in the future.

GoDaddy (\$GDDY)

Pending 160 shares at \$67.80

GoDaddy is a major player in web hosting and a leader in the domain industry specifically for small businesses. Pandemic driven online shopping and e-commerce growth expected to continue post pandemic. Rebirth of small businesses after the pandemic and after inflation eventually recedes will add top-line value.

Iqvia (\$IQV)

Bought 50 shares at \$210 on May 9th, 2022

For Iqvia we see the Quintiles/IMS merger to continue long-term potential. The early signs of full integration show positive signs exemplified by strong divisional growth. Our team is bullish on Iqvia's ability to growth the Contract Resource Organization (CRO) segment and the clinical lab business driving significant growth.

Tesla (\$TSLA)

Bought 8 shares at \$950.00 on April 26th, 2022

Tesla has positioned itself to be a leading EV manufacturer. Near-term, Tesla will benefit from the increase in oil prices and has strong pricing power to raise prices in a poor market environment. Key catalysts include greater than expected production of vehicles, revenue generation from heavy-duty trucking, and energy storage. The future of Tesla includes economies of scale in their production which will reduce the consumer price of vehicles.

Holding Changes with Investment Theses (cont'd)

Exited Positions

Ally Financial (\$ALLY)

Sold 340 shares at \$42.03 on May 6th, 2022

Due to decreased availability of new autos, ALLY has experienced -1% YOY Revenue growth – Pretax auto income dropped 10%. Earnings fell 18% on diminished profits from auto financing and mortgages –net income down to \$665M from \$796M a year ago. Mortgage Loan Origination dropped 52% this quarter. Falling auto underwriting premium volume due to chip shortages will continue to plague profit expansion.

Bristol-Meyers Squibb (\$BMY)

Pending

BMY carrying an extreme amount of debt and faces risks in terms of broadening portfolio of therapeutics and pipeline assets. The company recorded a net loss of \$9bn in 2020 to a net income of \$3.5bn in 2019. BMY has seen great growth over the past several months, beating our benchmark considerably. The stock is currently trading around \$77, which is above the initial target price of \$75. We believe the future growth prospects are priced into the stock and it is now fairly valued.

Ericsson (\$ERIC) Pending

Sold 1,364 shares at \$7.64 on May 13th, 2022

Ericsson's shares are down 28.5% in the trailing 12-month period and down 16.3% in the past six months. Political issues had a negative influence on the international business. The recent 5G trend is not catching up, as developments are incremental but not disruptive enough to cause a rising trend.

Teck Resources (\$TECK)

Sold 507 shares at \$39.69 on April 29th, 2022

Teck is heavily exposed to steadily rising input costs, which are cutting into their bottom line. Commodity prices also may impact their business model, along with environmental and ESG-related legislation coming to fruition. Being in an industry with relatively few, but very large, competitors allows for pricing competition amongst each other, which we believe will further impact Teck Resources in the coming months.

Dividends History

Received Dividends

Ticker	Sector	Payment Date	Dividend Per Share	Shares	Total Net Amount
\$LPX	Industrials	12/1/2021	\$0.18	185	\$33.39
\$MSFT	Information Technology	12/9/2021	\$0.62	85	\$52.79
\$CDW	Financials	12/10/2021	\$0.5	39	\$69.59
\$UNH	Health Care	12/14/2021	\$1.45	36	\$52.2
\$NOC	Industrials	12/15/2021	\$1.57	24	\$37.68
\$TSN	Consumer Staples	12/15/2021	\$0.46	191	\$87.86
\$KO	Consumer Staples	12/15/2021	\$0.42	25	\$105.42
\$WM	Industrials	12/17/2021	\$0.575	145	\$83.38
\$ANTM	Health Care	12/21/2021	\$1.13	31	\$35.03
\$EA	Communications	12/22/2021	\$0.17	163	\$27.71
\$NVDA	Information Technology	12/23/2021	\$0.04	108	\$4.32
\$BLK	Financials	12/23/2021	\$4.13	21	\$86.73
\$FDX	Industrials	12/27/2021	\$0.75	50	\$37.50
\$NKE	Consumer Discretionary	12/28/2021	\$0.305	135	\$41.18
\$TECK	Materials	12/31/2021	\$0.03	507	\$15.02
\$WMT	Consumer Staples	1/3/2022	\$0.55	98	\$53.90
\$CB	Financials	1/7/2022	\$0.53	98	\$52.00
\$MRK	Health Care	1/7/2022	\$0.69	208	\$143.52
\$TMO	Health Care	1/14/2022	\$0.26	22	\$5.72
\$SPY	ETF	1/31/2022	\$1.64	78	\$127.64
\$JPM	Financials	1/31/2022	\$1.00	80	\$180.00
\$VZ	Communications	2/1/2022	\$0.64	254	\$162.56
\$BMY	Health Care	2/1/2022	\$0.54	175	\$96.66
\$MA	Financials	2/9/2022	\$0.49	35	\$17.15

<u>Note</u>: As of 4/29/22.

Dividends History (cont'd)

Received Dividends

Ticker	Sector	Payment Date	Dividend Per Share	Shares	Total Net Amount
\$PG	Consumer Staples	2/15/2022	\$0.8698	108	\$93.94
\$ALLY	Financials	2/15/2022	\$0.3	40	\$102.00
\$ABBV	Health Care	2/15/2022	\$1.41	174	\$245.34
\$MLP	Energy	2/18/2022	\$0.175	1878	\$328.65
\$C	Financials	2/25/2022	\$0.51	193	\$98.43
\$MSFT	Information Technology	3/10/2022	\$0.62	85	\$52.70
\$CDW	Information Technology	3/10/2022	\$0.5	39	\$69.50
\$HON	Industrials	3/11/2022	\$0.98	89	\$87.22
\$LPX	Industrials	3/14/2022	\$0.22	185	\$40.70
\$TSN	Consumer Staples	3/15/2022	\$0.46	191	\$87.86
\$NOC	Industrials	3/16/2022	\$1.57	24	\$37.68
\$UNH	Health Care	3/22/2022	\$1.45	36	\$52.20
\$EA	Communications	3/23/2022	\$0.17	163	\$27.71
\$BLK	Financials	3/23/2022	\$4.88	21	\$102.48
\$NVDA	Information Technology	3/24/2022	\$0.04	86	\$3.44
\$ANTM	Health Care	3/25/2022	\$1.28	31	\$39.68
\$WM	Industrials	3/31/2022	\$0.65	145	\$94.25
\$TECK	Materials	3/31/2022	\$0.38	507	\$190.46
\$FDX	Industrials	4/1/2022	\$0.75	50	\$37.50
\$NKE	Consumer Discretionary	4/1/2022	\$0.305	135	\$41.18
\$KO	Consumer Staples	4/1/2022	\$0.44	251	\$110.44
\$WMT	Consumer Staples	4/4/2022	\$0.56	98	\$54.88
\$MRK	Health Care	4/7/2022	\$0.69	208	\$143.52
\$CB	Financials	4/8/2022	\$0.80	65	\$52.00
<u>Note</u> : As of 4/29/.	22.	Dividends Ro	eceived as of 4	/29/2022	\$3,802.71

Future Dividends

Declared Dividends

Company	Sector	Payment Date	Dividend Per Share	Shares	Total Net Amount
ABBV	Health Care	5/16/22	\$1.41	174	\$245.34
ALLY	Health Care	5/16/22	\$0.30	340	\$102.00
ANTM	Health Care	6/24/22	\$1.28	31	\$39.68
CDW	Information Technology	6/10/22	\$0.50	139	\$69.50
С	Financials	5/27/22	\$0.51	186	\$94.86
КО	Consumer Staples	7/01/22	\$0.44	251	\$110.44
HON	Industrials	6/3/22	\$0.98	89	\$87.22
LPX	Industrials	5/26/22	\$0.22	186	\$40.92
MA	Financials	5/9/22	\$0.49	35	\$17.15
MSFT	Information Technology	6/9/22	\$0.62	85	\$52.70
ET	Energy	5/19/22	\$0.20	1878	\$375.60
PG	Consumer Staples	5/16/22	\$0.91	108	\$98.64
TSN	Consumer Staples	6/15/22	\$0.46	191	\$87.86
WMT	Consumer Staples	5/31/22	\$0.56	98	\$54.88
	Total Declared Dividends				

Total Declared Dividends

\$1,476.79

<u>Note</u>: As of 4/29/22.

Student Analysts

Consumer Discretionary & Staples



Lead Analyst Lauren Hancock - hancoclm@miamioh.edu

Senior Finance Major Incoming Private Wealth Management Analyst at PNC Private Bank - Chicago, IL



Hayley Stepek - stepekhm@miamioh.edu

Senior Finance Major Incoming Fixed Income Analyst at KeyBanc Capital Markets in Chicago, IL.



Robert Lamport - lamporrd@miamioh.edu

Senior Finance Major Incoming Analyst at UBS - Nashville, TN



Solomia Semenyuk - semenys@miamioh.edu

Junior Finance Major & Computer Science Minor Incoming Global Markets S&T Analyst with Goldman Sachs in NYC

Student Analysts (cont'd)

Information Technology



JSMIF

Lead Analyst Ryan Spahr - spahrrm@miamioh.edu

Senior Finance Major Incoming Global Finance & Business Management Analyst at JPMorgan



Brett Husslein - husslebm@miamioh.edu

Senior Finance Major



Drew Kearns - kearnsad@miamioh.edu

Senior Finance and Accounting Double Major from Cincinnati, Ohio. Looking to pursue a career in equity research.



Micheli Liu - liuq35@miamioh.edu

Senior Finance Major from Chengdu, Sichuan, China. Looking for career in equity research, hedge fund, and mutual fund.

Student Analysts (cont'd)

Healthcare



Lead Analyst Amanda Young - younga4@miamioh.edu

Senior Finance and Accounting Major Incoming Equity Research Associate at KeyBanc Capital Markets New York City, NY



Deep Patel - pateldd@miamioh.edu

Senior Finance Major & Analytics Minor Incoming Financial Analyst at DHL - Technology, Columbus, OH



Edward Anaya - anayae@miamioh.edu

Senior Finance Major and Accountancy Minor Incoming Investment Banking Analyst at Jefferies - Mergers & Acquisitions New York City, NY

MUSMIF

Student Analysts (cont'd)

Communications



Lead Analyst Bich Ha Nguyen - nguyen30@miamioh.edu

Senior double majoring in Finance and Data Science & Statistics from Hanoi, Vietnam. Incoming Digital Analytics Intern at Genpact. Pursue a career in the fintech industry



Xingyao Wang - wangx175@miamioh.edu

Senior Finance Major Shanghai, China Business Analysis Intern at J.D Inc.



Brad Gamm - gammbr@miamioh.edu

Junior Finance Major & Business Analytics Minor from Novi, Michigan Incoming First Line Risk Management Intern at Charles Schwab in Westlake, TX

Student Analysts (cont'd)

Financials & Real Estate



JSMIF

Lead Analyst Josiah Putrich - putricj@miamioh.edu

Senior Finance major Incoming Digital Assets Research Analyst at Ernst & Young in Chicago, IL



Xuan Liang - liangx17@miamioh.edu

Xuan Liang is a senior finance major student at Miami University. He will pursue a master's degree in Wealth and Asset Management at Washington University in St. Louis, Olin Business School in Fall 2022.



Chase Sawyer - sawyerc4@miamioh.edu

Senior Finance Major Incoming Investment Specialist at Merrill Lynch in Chicago, IL

Student Analysts (cont'd)

Energy, Utilities, Materials, & Industrials



SMIF

Lead Analyst Nick Frostino - frostina@miamioh.edu

Junior Finance & Accountancy Major Incoming Equity Research Summer Analyst at Cleveland Research Company in Cleveland, Ohio



Alexis Misconish - misconaj@miamioh.edu

Junior Finance Major and Accountancy Minor Incoming Investment Banking Summer Analyst at KeyBanc Capital Markets in Cleveland, OH



Jordan Kimbrell - kimbrejr@miamioh.edu

Senior Finance Major Incoming Client Service Associate at Fisher Investments - Tampa, FL



Max Hale - halepm2@miamioh.edu

Junior Finance Major & Political Science Minor Incoming Wells Fargo Investment Banking Summer Analyst in Charlotte, NC - Middle Market IB

Disclaimer

The purpose of this document is to provide information on the Miami University Student Managed Investment Fund. All the information is believed to be accurate and reliable but should not be relied upon without verification, and Miami University and the Student Managed Investment Fund assumes no responsibility for its use.